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1 | N | -
2 | E | NS
3 S |WE
4 | W |obie
5| N NS
6 | E |WE
7 | S |obie
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9 | N |WE
10 | E |obie
111 S -
12 | W | NS
13 | N |obie
14 | E -
151 S |NS
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50 - 50

90 - 90
130 - 130
220 - 260
300 - 400
400 - 600
430 - 630
460 - 660
490 - 690
520 - 720
700 - 1000
900 - 1350
990 - 1440
1250 - 1800
1400 - 2100
1500 - 2200
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0-10
20 - 40
50 - 80
90 - 120
130 - 160
170 - 210
220 - 260
270 - 310
320 - 360
370 - 420
430 - 490
500 - 590
600 - 740
750 - 890
900 - 1090
1100 - 1290
1300 - 1490
1500 - 1740
1750 - 1990
2000 - 2240
2250 - 2490
2500 - 2990
3000 - 3490
3500 - 3990
4000 -
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